80

MKSA

81

()

( )

monograph

S )

(3)



of t
Co ( o, B,y
)
oo, By
a=Kpeg (5)
B =kano (6)
v =kzK (7)
( ) K
K? = £onocH (8)
k3 =kako (9)
[1] (CGS MKSA )
[2] (MKSA esu emu Gauss )
(3] ( )
[1] cm, g, sec m, kg, sec, A(C)
3 4 )
(2] ( £0)
(esu ; Electrostatic system of units)
( Ho)
(emu ; Electromagnetic system of units) (&g Uo)
(Gauss ) go Mo
(MKSA )
()
[3] 5) ) k k=




47

1/(4n)
47
4n esu,
emu, Gauss MKSA
1) MKSA(MKSQ )
m, kg, sec A( C)
ki =k, =kz =4n o = 4neg, B = 4npg, v = 4nK
( )
7 11
€0 =&Iz= 10 > Ntc?Pm™? (10)
4rc 0 4TECO
¢g mst "2.99792458x10%(
cg cmst " "2.99792458x10%° 1
0
K=1
Ho =4nx107'NA? =47x10"" kg m C™2 (11)
(8) (eoMo) 2

2.99792458x10% m s1

2) CGS esu(CGS

cm, g, sec
k1:k2:k3:l GZSO,B:Ho,Y:K
go = 1( K=1
8) Mo
Mo =Co° (12)
o (2.99792458x10%° cm s7%, )




Bp cm=<s
3) CGS emu(CGS )
cm, g, sec
k1:k2:k3:l GZSO,B:Ho,Y:K
( CGS esu )
no = 1( ) K=1
€0
£0 =Co° (13)
Co (2.99792458x10%° cm s72, )
CGS emu gg cm?s?
4) Gauss
cm, g, sec
k1=k2=k3=1 (1=80,B=M0,’Y:K
( ems esu )
€0 Ho L )
K =co = 2.99792458x10% cm s7( )
MKSA
1930 CGS
Gauss
Planck MKSA
Gauss CGS esu CGS emu
(O. Heaviside) 1882-83
(1883 ) (H. A. Lorentz)
(G. Giorgi JMKSA
CGS ( CGS esu)
CGSesu MKSA 4 cm, g, sec, Fr
(Fr ) CGS esu MKSA
SUN ( ) esu



esu Fr( )

CGS ( CGS emu)
CGSemu MKSA 4 cm, g, sec, Bi
(Bi ) emu emu
Bi( )
82 (EH E-B )
1
E-H
( N S )
g <> Oy €0 € Mo E > H( D < B)
(E-H )
E-H E-H
1 Odmd'm
E=-_— -"mim 13
Anpg  r? (13
dm(Wb)*  g'm,(Wb)
F O'm H E
)
1 dn
H = 14
4mpg r? ()
F=qmH (15)
B },lo H
B =pugH (16)
E-B ()
( )
E-B 2
1 Wi Y=NA1lm



F=IAsxB (17)
| As B 1
E-H F=gmH E-B
IAS B 2 B
dBZuOI ds xR :uol ds XeR (18)
4n RS 4  R2
R lds R
B ds B R
B = },loH
dH =195 xR (19)
4n RS
H F
E-H

H E-B consistent

E-B E-H
F=qmH (20)

E-B

F=¢B (22)

E.s B = },loH

F = potH E-B & E-H Om (Mo )
g=m (22)
Ko
3 Am dm N A1 m (= wb)
E-B
E B E-B E-H

1 = As =B =F

As B

2 E-B B H B



E-B E-H
2
Pm
B =pugH + Py
C )
D =¢gE +P
P (D
P )
E-B
H = LB -M
Ho
M
B =po(H +M)=poH +poM
(23) (26)
M = P_m
Ho
E-H E-B
Ho (o 4nx107" N A
83
MKSA C( ) CGS esu esu
MKSA
F_o_1 ®d2
4TC80 r2
CGS esu
1
2 (
3 esu (Fr) (1961 SUN

(27)

(23)

(24)

(25)

(26)

(27)

(22)

(28)



r2
F
(m)
(cm) Xm=Xxcm X X
cm
,cm X'
X = _
m 100
100x = X'
( ) 1
( ) cm
X 100x m
MKSA
N F) CGSesu (dyn F)
(")
142
F'=
2

MKSA (28)

esu C esu

(28)

FN=F'dyn — > F = F'—d?\’l”

. .esu

gC=g'esu —— qqu
. ,cm
rm=r'em —— r=r'—
m

(10) &g =10"1/(4ncd)

(29)

m = 100

(30)

(31)

CGS

(32)

(33)

(34)

(28)



F,(dyn) _ 1 4ncp C (35)
N 4r 1011 o(cm 2
)
[ (")
] £
()
o cms* nooo
2 1 1 2
F-[ 1 ]: Co qqu(equ (36)
10°) 10*tx10™* 2 \ C
- 2 C o 2
Fro 10%¢3 qlqz[esuj _ cd qlqz(esuj a7
10t x107% r2 [ C 102 2 \ C
CGS esu ( Fre Q1'Q2'/r'2
)
esu)? 3 107 (38)
C c3
esu E (39)
C Co
( ) esu = EC C= C—Oesu (40)
Co 10
ms™*t neg
esu = C C=10c'gesu (41)
lOC'o
C esu

1 C = 2.99792458x10° esu



1 m=100cm

C esu
MKSA
emu
emu
o1 %
4neg r2
CGS emu
F.=|LCI'12'2
€0 r'
2
419 emu
([ dyn 1 4nc§ 172 C
F'l —=2—|=—
()
m
(13) €0 =Co°

F'[ 1 ]_ 1 a19's (emu
10°) 10 xggx107* 2 C

C CGSemu
MKSA
(42)
(43)
(44)
(45)

, 10° 919’2 (emu 2 1 1 qy99(emu 2
F'= - == (46)
10 xggx1074 12 C 102 €g r*? C
CGS emu (43)
F'=(1/¢'0 Xon'dz"/r"?) )
emu 2
(—j =10° (47)
C
emu___ 49 (48)
C
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emu

( ) emu =10C C=
10
MKSA
Al m) CGS emu (emu)
E-B E-H
MKSA
E - 1 dmidm2
4npg  r?
CGS emu
_ OIm1d'm2
Fr=="5""
r
2
- emu
F'(dyn]—i 1 ml4 m2 Wb
N At 4n x10~ 7 (2 cm 2
m
Ho 4n x 1077
( 1 j 1 1 q'mlq'mZ(emU 2
Fl = |=— :
10°) 4m4nx107' x107% r’ Wb
C 2 C
Ere 10° Am1dm2 (emuJ _ 10"° g'm1A'm2 (emu
(4n)? x1077 x10™*  r*? Wb (4n)?  r? Wb
CGS emu [ (51)]
emu)®  (4r)?
Wb 1016

-11 -

¢

(49)

Wb(= N
E-H

(50)

(51)

(52)

(53)

(54)

(55)



CGS emu
MKSA

Og(

Wh)

emu  4r

Wb 108
8
) emu=ﬂWb Wb=£emu
108 4n
MKSA CGS emu
Mx( )
Wb
MKSA
B = },loH
CGS emu no =1
B'=H’
H H
H-_1 Om
4npg r?
Am™ CGS emu H'
. O'm
H'= -0
2
dyn emu? = dyn*/? cm™
) Om  O'm
(60)
q emu
[ Oe 1 1 M Wb
H 1) 4n 7 2
Am~ 4T An x10~ rlz(cmj
m
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(56)

(57)

(58)

(59)

MKSA

(60)

(61)

Wb emu
(emu = 4nx1078

(62)



H,( Oe ]: Anx1078 a'm
Am™2) (4nf x1077 x107% r*?

Oe 41 x1078 10°

AmT (4P x1077 x10%  4n

T( )
(58)
B (9) — 4 x10~"H [ 061]
Am-
H [ (65)]
B (—j —4rx10° 7 x19" H'—1074H
4rn
CGS emu B'=H'
S 10
=
( ) G=10"*T T =10%G
G T

CD=J‘B-ndS

MKSA Wb CGSemu Mx
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(63)

(64)

(65)

CGS emu

G( )

(66)

(67)

(68)

(69)

(70)



G T
(
Wb
Mx
4n
84
vV E

D' -2
[

.

)-[e (@) sl

G=10"*T

) -1074 ><10_4.“ B'ndsS'

Mx

== -1078
Wb
Mx =10"8wWb Wb =108 Mx
MKSA
CGS emu
MKSA
8
Wb = &emu
4r
Wb =108 Mx
Maxewell MKSA
vxE - 9B

Gauss

ot
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(71)

(72)

(73)

(74)

Mx
CGS emu

(75)

(76)

(77)



Gauss CGS esu

MKSA (E) Gauss (E"
( )
esu  (dynYZem™)= C—OBMKSA (NC (78)
10
( ) E FE
E = —COG E' (79)
10
B B T B
G
G=10"T (80)
[ (69)] B B
B =107B" (81)
\Y \Y%
\% =iex +iey +iez (82)
OoX oy 0z
vV mt v cmt
cmt=10°m™
V =10%V' (83)
MKSA
102vx—O E'= 1074 B (84)
10
VxE'= - =8 (85)
Co ot
Gauss Maxwell ( )
MKSA  Gauss
MKSA Gauss MKSA
4TCSO 1
( (77 4meg )
MKSA Gauss
P Wm MKSA
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Ho€

_— 86
Hm m p (86)
Ho 47x107" N A2 Hm N A1 m?(= Wb m)
E-H E-B
Hm(E-B  )=-p (87)
2m
A m? E-H " g
Hm 1/uo [ (22), (27) ]

MKSA Wb m Gauss Wb emucm(=

dyn’? em™) Wb emu (57)
emucm = 4—ﬂi;Wb x1072m = 47110 Wb m (88)

10 10
T
Hm = mu m (89)
Gauss e CGS esu
esu=10¢ (90)
Co
e= Ee' (92)
Co
m MKSA kg Gauss g g =103 kg
m =10"3m" (92)
p MKSA kg m? st Gauss gcm? st gcm? st
=10"kgm s
_ -7 1
p=10""p (93)
Lo Gauss 1
10
4n Anx1077 cq _7

= 107 p* 94
100" ™ 2 10%m " 64



Gauss Co 1

p' (95)

Gauss

1 Gauss MSKA Gauss Co
(cm st )
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1) n( ) pp.152 156

p.153 4.1(p.154 4.2 )
E-H
E-B MKSA
MKSP
( MKSA Gauss )
( MKSP )
2) E H D B ( ) pp-23 36
E-H ( p.23
) E-H E-B
3) ( )
1 (2) ( )
(4)
4
4) 1] ( ) pp.433
441 ( )
(Gauss
Gauss
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MKSA ( ) E-H

q (C) C

€ NTc?m? { kgtm3c?s?

E NCt kgm C1ls? vm?t

D Cm?

u Cm

( )| am (Wb) NATm kgm?Ccts™? Vs HA

0 (Wb) NAYm kgm?cls? Vs HA
N A7 kg m C2 Wb? Nt m™ Hm?
Amt N Wb

B (T) NAIm? Wb m=2

™ N AT m? Wb m

(€o) 107/(4nc'y?) = 10M/(4ncy®) Nt C? m™2
Cop m st ( ) Co cm st ( )

(no) 4nx107' N A2
1/2

1 _/
C'o = (ggko)
HC )=NmA2=kgm?C?=VAls=wbAl

E-H E-B E-H B = poH + P, E-B H =B/, - M
Pm M E-H E-B )
E-B €= am’/Ho Am E-B
E-B m =y /o A m?
C( ) = (cg/10) esu = (cy/10) Fr( ) =10c'g Fr
Wh( ) = 108 Mx( )
Am™ = (4r/10%) Og( )
T( )=10*G( )
D( ) D=Cm D( )
CGS esu (esu cm) D =10 esucm
Sl D = 10 *® esu cm = (1078)(10/¢)(109C m = (10*°/¢cg) C m =
3.335640...x103° Cm D=Cm ( D Cm )
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CGS esu(CGS )( )
q (Fr) esu dyn*’? cm gt/? cm3/? st
c - B} B}
E dyn esu? dyn*? ecm™ g2 ecm™2 st
D dyn esu? dyn*’? ecm™ g2 ecm™2 st
n esu cm dyn?/? cm? V2 ecmd2 st
( V| g dyn'/2 /2 (172
D dynl/2 s gl/2 le/2
cm? s?
H dyn/2 s1 g2 cmi/2 52
B dynl/2 cm 2 s 1/2 Cm73/2
. dyn'’2 cm s /2 ()32
Fr( ) CGS esu MKSA
(SUN ) 1961 cm, g, s, Fr CGS
(e0) 1( )
(no) 1/co? co 2.99792458x10%° cm s7Y( )
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CGS emu(CGS X

q dynl/Z S g1/2 cmi/2
€ cm2s?
E dynt/2 51 g2 cm/? 572
D dynl/Z cm32s 91/2 em-3/2
mn dynllz cm's 1/2 o372
( ) qm emu dyn1/2 cm 1/2 Cm3/2 S—]_

CD (MX) emu dyn:l-/2 cm 91/2 Cm3/2 371
H (Ce) dyn emu™ dyn2cm™? | g2 em /271
B G) dyn emu dyn'/2cm 1/2 /2 1
Hm emu cm dyn*/? cm? g2 cm5/2 571

() 1/c9> ¢ 2.99792458x10° cm s )

(o) 1 ( )

G( )=Mxcm?
Bi( )
(SUN ) 1961 cm,g, s, Bi
Bi( )=10A

CGS
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Gauss ( )

4 (Fr) esu dyn2cm | g“2 em®2 5L
€ - - -
E dyn esu™® dyn®/2 cmt 1/2 172 g1
D dyn esu? dynZem? | g2 ecm /2 g1
1 esu cm dyn*/2 cm? 1/2 o572 g1
( ) Um emu dyn1/2 cm g1/2 Crn3/2 S_1
D (Mx) emu dyn*’? cm 1/2 (n3/2 o1
K - - -
H (Oe) | dynemu™ dyn*2ecm™ 12 (12 g1
B (G) dyn emu™ dyn*2ecm™ 12 (12 g1
Hm emu cm dyn?/? cm? 1/2 o n5/2 o1
(€g) 1( )
(ho) 1( )
_ 10 -1
Col = 2.99792458x10"" cm s ~( )]

Co = 2.99792458x10° cm s7X(
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1983
1991
1993
1999
2005

10

~N N O

22
20

31

o b wnN
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80

81

Sl

MKSA

E - 19dmi19m2 e

B r2 '
(Ampére)
MKSA
Gauss

SI

monograph

(Coulomb)



(1dl

F==Idl xB 3)
Y
F r er
(=r/r) q Om | dl
) B o, B v( )
g u oo, P
a=Kke (4)
B=kp (5)
(Maxwell) 4 2
47
-1 6
V-D K p (6)
vxE =18 (7)
y ot
V-B=0 (8)
4n 10D
X = — —_—— 9
V xH K +y o 9)
P H j 3 D E
D =c¢E (20)
B = uH (11)
( p=0,j=0) e=¢,
(80, Ho ) 6 (9)
V-E =0 (12)
)
(
)
( ) (flux)



10B

V-B=0 (14)
VxB = %% (15)
(13) rot(= V x) 1

( ) —> Vx(VxE) (16)
( )—)VX(—E@J2—1(VX@J=—££(VXB) (17)

y ot Y ot y ot

(16)
Vx(VxE)=V(V-E)-V%E (18)
(12) 1
Vx(VxE)=-V°E (19)
(17) VxB (15)
10 eolg O (OE oo 0°E
— = (VxB)=- —(—j=— — (20)
(19)  (20)
o golg O°E
V2E = 0—20—2 (21)
Yo ot
VR (22)
VeoHo
( 7\" Vv eZni(x—vt)/?» (21)
) Y
1 rot curl VxA=rot A=curl A
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(15) rot

Vx(VxB)=V(V-B)-V?B = -V°B (23)
( (14) ) (15)
2
V x 80“0% _ goMo E(VXE)Z—SOHO o°B (24)
y ot y ot v2  at?
( (13) )
25 _ follo 0°B
VB = 50— (25)
Yo ot
(21) 1/\eomo
v 2.99792458 x 108 m
S_l 1 Co 2
co = (26)
veoto
( (13), (15) (26)
(26)
( ) 2 o B,y
€0y Mo» 7> K )
[1] &g Mo, ¥ -
[2] k -
[3] -
[1] ( £0)
( ; Electrostatic system of units esu )
( 1) ( ; Electromagnetic system of
units emu ) €& Mo (Gauss )
1 (exact)
2 Co = 2.99792458 x 108 m s71 = 2.99792458 x 1010 cm s71

-4 -



[2] K = 4n k=1 1
(Biot-Savart) 4n
4r
4r
[3] cm, g, s m, kg, s, A( Q)
3 4
1) CGS esu(CGS )
cm, g, s (3 )
k=1( )
€0 Y gg=1 =1 )
Ho  (26)
o = iz =1.11265...x107%1 cm™?s? (27)
Co
2) CGS emu(CGS )
cm, g, s B )
k = 1( )
Ho Y o =1 v = 1( )
80 (26)
g0 = iz =1.11265...x10721 cm™?s? (28)
Co
3) Gauss
cm, g, s B )
k = 1( )
€0 Ho 1 )

Y= Co = 2.99792458 x 10'° cm s71

14n



4) MKSA 1

m, kg, s A( C) 4 )
K = 4n( )
Ho v
Ho =4nx107'NA2 =4nx10"" kg m C™2 (29)
(exact ) 2 v =1( ) (26)
£g = L o = 8.854187817...x10 > N1 C® m™? (30)
HoCo
Ho Co (exact) €0 ® uo
&0 1901 G.
Giorgi 1954 10 (sh

CGS esu CGS emu Gauss MKSA

4 1
1 4
k €0 Ho y
2
CGS esu cm, g, s €0, Y 1 1 1/c0 1
2
CGS emu cm,g,s Mo, ¥ 1 1/00 1 1
Gauss cm, g, s €0y U 1 1 1 Co
2 -7
MKSA m, kg, s, A Ko, ¥ 4n 1/(uoco) 47 x 10 1
()co MKSA
Co = 2.99792458 x 108 m s1 Co = 2.99792458 x 1010 cm s71
1 MKSQ
2 1 (
)
V( ) Al ) Q( ) W( )
( )
( 4n x 1077
)
e Ho Ho



Gauss CGS esu CGS emu
(O. Heaviside) 1882-83
Lorentz)
MKSA
o CGS ( CGS esu)
CGSesu 4 cm, g, sec, Fr CGS esu
(SUN )
CGS esu Fr( )
o CGS ( CGS emu)
CGS emu 4 cm, g, sec, Bi
CGS emu Bi( )
o MKSP
I ( 1982)
P  Physical 3 (MKS) egg=MHo=1,7y=¢Cg
- MKS
Gauss Gauss 1
82 (E-H E-B )
E-H E-H
N S )
g dm o< EoH DB
(E-H ) E-H
E - 1 9dmidm2 e
Anpg  r2
1 1 4z
4n ( )
4 1
MKSA
MKSA c
€0) ep

MKSA ( )

(H. A.

MKSA

MKSP

(31)



Om1 9m2 F
1 0402
F=—"T-"""C¢ 32
4neg r2 (32)
op! E
1 qp
E = —~<e 33
Aneg 2 " (33)
F=0q.E Am2 H
1 dm2
H = e 34
47'5“0 |‘2 r ( )
F =qmiH (35)
E-B )
( )
F=I1dl xB (36)
( )
1 E-B 2 B o
H
B =poH (37)
(36) E-H F = dmiH( (39)
E-B Idl ) B 3
(36), (37) F = poldl xH H
F (B H
E-H E-B
E-H ( (35))
1 =F =B = Idl
( ) idl B
( ) =F =
=B = =Idl = ( ) =
( )
2
3 E-B B H B



F=qnH
E-B
F =¢B
13 ” é
HocH E-B ¢ E-H Om
= 9m
Ho
Am NALm (= Wb;
E-B E-H
2
E-B
M ( H E-H )
B =uH =pgH +—~My
()
D = ¢E = goE + %P
K
(D E P ) P
E-B H
H-tp_4%"\y B
Ho k
Mg E-B
B=poH +—9M
(41)  (44)
1 W. H. Weber( )
2 E-H E-B

(38)

(39)

(40)

(41)

(42)

(43)

(44)



(40)

83

C( ) CGS esu

MKSA

esu

_ 1 map
4ngg 2

CGS esu

F - %42

(N( ) dyn( )

X (cm)
m =100 cm

om _ x
m 100

(48) x x'

100x X'

esu
CGS esu

(")

)

esu (Fr)

-10 -

(45)
E-B
(g 4mx 107" N A2
E-B
MKSA
1
(46)
(47)
10° )
(m)
Xm= x'"cm
(48)
( )
m = 100 cm
MKSA
(dyn )



F'— d192 (49)
I2
r
MKSA (46)
CGS esu “ ? C esu
(46)
FN=F'dyn — > F :F'—dm” (50)
gC=qg'esu —— (q zq,es?u (51)
rm=rem —— r=r" (52)
m
2
a1 q esu
(dyn 1 "2 ¢
- (53)
=)
(53) ( ) '
Foay
(53) g ) (46)
g (30) 8.854187817... x 10712
(53) €0
11
€0 — 10 > (54)
4nl
( (54) 8.854187817... x 10712 ) ¢ cms?t
(2.99792458 x 109 1 (10 /4n)

(107 /4n) (29), (30) to 10* m? s~2

cm? s72 (54) ¢y  (53)

1 IUPAC |. Mills, T. CvitaS, K. Homann, N.
Kallay, and K. Kuchitsu, Quantities, Units and Symbols in Physical Chemistry, 2nd ed., Blackwell
Science, Oxford, 1993. ( Green Book ) p-110

“ The constant { which occurs in some of the electromagnetic conversion factors in the (exact)
pure number 2.99792458 x 1010 = ¢y/(cm s1) ¢

-11 -



. (esu)?
F‘(mjyncquqz(CJ
N ar 10t em)?
r (m]
F,( 1 j: &2 q'lq'z(eSsz
10°) 10'x10™* 12 \ C

] ' 2 ! ' 2
105¢2 Q1Q2(esuj _ ¢ qlqz(esu
2

F'e
1014104 2 L C 102 r
CGS esu ( (49) (
a1 Q'z/r'z )
L t? (esu 2
102\ C
esu )’ 3 102
C &2
esu 10
C o
() | eu=2c C = fges
¢ 10

{ 2.99792458 x 10%°

1 esu = 3.335641 x 1020 C

2.99792458x10° esu
1 m=2100cm

C esu
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(55)

(56)

(57)

(58)

(59)

(60)

(61)

1C-=



MKSA

emu CGS emu
emu MKSA
F__1 9
dneg 2
CGS emu
= 1 Q122
€o r'
(62)
2
a4 q emu
,(dyn} 1 42 71720 ¢
Fri=2 | = —
N 4n 1011 5> (cm)?
)
(28) €0 1/¢?

F'( 1 ]_ 1 a'1d's (emu JZ
10° 1011><z»:'0><10_4 r2 C

, 10° q19's [emu jz 1 149495 (emu
F = = -
101 xe'gx1074 12 C 102 € r? C
CGS emu ( (63))

1= 1 (emu 2
102l C
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C CGS

(62)

(63)

(64)

(65)

(66)

(67)

(68)



emu

=10 69
C (69)
( )| emu =10C c=fmu (70)

10
MKSA Wb(= N A™ m)

CGS emu (emu) E-H
E-B E-H MKSA
E = 1 9mi9m2 (71)
4npg  r?
CGS emu
|2
;
2
C g, | MY
(dyn 1 1 CIlemZ(ij

Fl— 1= 5 5 (73)

N At A x10~ r'2 cm

m

o Anx1077( )
1 1 2
F(ijzi 1 dmi1dm2 (emuj (74)
10°) 4n4anx107'x1074  r? Wb
105 ] 1 2 1016 f ' 2
Fre Ami19m2 (emuj _ Om19m2 emuj (75)
(4n)? x107" x107% Wb @n?  r? Wb
CGS emu ( (72)
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emu’)? 3 (4n)2
Wb 1016
emu  4rn
Wb 108
8
( ) emu = ﬂWb Wb = £emu
108 47
MKSA CGS emu
CGS emu Mx( ) MKSA
@ B
D = J'B -ndS
1 MKSA
H
B = MoH
CGS emu np =1
B'=H'
H H’
MKSA
H- 1 Om
4npg r?
Am CGS emu H'
O'm
H'= 1M
2
dyn emut = dynl/2 cm™t ( Og(
) A mt Oe dn 9'm Wb
(78) (emu = 4n x 10~ Wb)
1.ds n

(76)

(77)

(78)

Wb

(79)

(80)

(81)

H (34

(82)

(83)

emu
(82)



" (emuj
M Wb

Oe 1 1
H 1" 2. —7 2
Am 4T 47 x10 (2 (cmj

m

Anx1078 a'm

H'{ Oe

A m_lJ - (47t)2 x1077 x107% r?

Oe 103
A m_l 4r
3
( )| 0e="aAm? Am™ -0
4z 10
MKSA CGS emu
) G( ) (80)

B S| anx107H|_C8
T Am™

H ( (87)
3
B &)z anx107 x2 Ho104h
T 47
CGS emu B'=H'( (81))
S _104
=
G T
( ) G=10"%T T =10%G
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(84)

(85)

(86)

(87)

(88)

(89)

(90)

(91)



(79)

o = IB -ndS
MKSA Wb CGS emu Mx
(92)
2
o[M)_ [&(S)nas{om
Wb T m2
G T 91) G=104T
o[ MX) _10-4 x10_4I B'ndS'
Wb
Mx _1o0-8
Wb
( ) Mx =10"8Wb Wb =108 Mx
MKSA Wb
CGS emu Mx
MKSA CGS emu Mx

8

Wb = £emu
4n

Wb =108 Mx

47
84
§1 1 (13) MKSA
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(92)

(93)

(94)

(95)

(96)

(97)

(98)



oB

VxE =-———
ot
Gauss
(7) 1
(7)
(99) V E B
Gauss CGS esu
MKSA (E) Gauss
MKSA E ( (33 )
E-_1 9
4neg 2
Gauss E'
1 q
E'=—
2
E MKSA E' esu

,(esu j
E,( esu j 1 4nc2 C

MKSA ~ 4n 1011 2 (ijZ

m
(61)
( esu j 4nc? x10 q’ ¢ q
E - qa _ .6 a
MKSA Anx10tt xcx1074 2 10° 12

(101)

6
MKSA (NC)= %esu (dyn¥2cm™)

( ) E E
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(99)

(101)

(100)

(102)

(103)

(104)



E--C F (105)

10°
( (") CGS esu )
B T B G
T =10%G (106)
( (92)) B B
B =10"B" (107)
\Y%
0 0 0
V=—e,+—e,+—e 108
ax X ay Y ezt ( )
\% m?t v cmt mt=102cm™?
V =10°V' (109)
( (105), (107), (109)) MKSA ( (99)
102 V'x C6 E-_104% (110)
10
V'xE'= 1B (111)
¢ ot
Gauss V' cm 1, E
gl/zcm‘l/zs‘l, B' gl/zcm‘l/zs‘l, t s C cmst
§ 2.99792458 x 10° cm st
(111) L co
Gauss Maxwell ( (13) )
Vg - = B (112)
Co ot
1 (7) Gauss
MKSA Gauss MKSA Gauss
MKSA Areg 1
( (99) 4neg
) 1
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MKSA Gauss
| MKSA E-H

Ho€
my=-—I1 (E-H 113
H =" om, ( ) (113)
e ( e>0 ) Mg
Ho (4m x
10’ NA?) my N At m?= wb m) E-B
mpg
mg=-—1 (E-B ) (114)
B 2m
E-H A m? E-H
1/no My 1po
( (40 (45) ) MKSA Wb m
Gauss Wb emucm(= dyn]/2 cm_l) Wb emu
(78)
8 10
Wb m = £emu m = 0 emu cm (115)
4 47
47 .
my = 1010 my (116)
Gauss esu (61)
C-= iesu (117)
10
e = Ee' (118)
C
me MKSA kg Gauss g kg = 10° g
Me =10"°m’, (119)
I  MKSA kg m? st Gauss g cm? st

kg m? st = 10’ g cm? st
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(116), (118), (119), (120)

Gauss

(123)

1=10""1

(113)
E ]
4n 4nx10~7 ¢
oM =- 3
10 2 10°m,
m' __¢
H 2m'g
C
1 _ el
H 2m'cg
(113)
4
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(120)

(121)

(122)

(123)



2. MKSA ( 4 HYE-H )
q (©) C
€ Nt c?m™ kg_1 m~—3 Cc? s?
E NCt kgmC1s? vm?
D cm?
u Cm
( ) | an (WD) NALm kgm?Ccts?t Vs HA
) (WD) NA™Tm kgm?Ccts? Vs HA
i N A2 kg m C™2 Wo2Ntm?2}{ Hm?
H Am™t N Wbt
B ) NATm? Wb m—2
my NA1m2 Wb m
no = 4nx107" NA2
e = Y(uoed) = 10"/(4ng?) N c?m2
Co ( ) ¢ cmst ()
E-H B = MoH +MH E-B H= B/MO_MB(MH! MB E-H
E-B )
E-B &= dm/uo Am
mH E-H E-B mB = mH/HO
A m?
H( )=NmA?=kgm?C?2=VAls=wbAl
C( ) = (€/10) esu = (£/10) Fr( )
Wh( ) = 108 Mx( )
Amt= (4r/10%) Og( )
T( ) = 10% G( )
D( ) D=Cm D(
) CGS esu (esu cm) D =10"*® esu cm
Sl D = 108 esu cm = 107*®)10/9)@072) C m =

10719/t) € m =3.335640...x102° C m
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3. CGS esu(CGS ) 3 )
q (Fr) esu dynll 2cm gll 2em3/2 57t
e - - -
E dyn esut dynll2 cm™t 91/2 cm /2 g1
D dyn esu~! dynll2 cmt gll2 cm 257t
n esu cm dyn*/2 cm? gt/ em®2 st
( )| qn dynl/2 s g’/2 cm1/2

o dynl/2 s g2 cm1/2
u cm 2 s?
H dynl/2 71 g2 cmt/2 52
B dynl’2 cm=2 s g2 cm3/2
m dyn*’2 cm's g1/2 cm3/2

gg =1( )

o = L/c2 =1.11265... x 1072 cm™2 52
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4. CGS emu(CGS )( 3 )

q dynl’/2 s g1/2 cm1/2
g em2 §2
E dynl/2 g1 g/2 cm1/2 g2
b dyn'/2cm?s gt/2 cm=3/2
] dynl/2 cm s g:I./2 Cm3/2
( )| 9m emu dyn/2 cm gt/2 cm3/2 1
© (Mx) emu dyn/2 cm gl/2 cm3/2 571
M - - -
H (Oe) | dynemu? dyn/2 cm1 g2 cm /2 g1
B (G) dyn emu? dyn’2em | g2 cm /2t
m emu cm dynl/2 cm?2 gl/2 cm5/2 51
o =1( )
g0 = 1/c2 =1.11265... x 1021 cm2 §?
G( ) = Mx cm™2
Bi( ) Bi( )=10A
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5. Gauss ( 3 )

q (Fr) esu dyn1/2 cm g1/2 em3/2 571
& - - -
E dyn eSU_l dynl/2 Cm_l 91/2 Cm—1/2 S—l
D dyn esu™t dyn/2em ™t | gl/2 gm /2 g1
U esu cm dyn1/2 cm?2 g1/2 em®/2 51
( ) qm emu dynl/2 cm g:I./2 Cm3/2 S—]_
@ (Mx) emu dyn2cm | g2 ecm®2 st
M - = -
H ©e) | dynemu™? | dyn?cm™ | g1 em2st
B (G) dyn emu™t dyn*2cmt | g2 cm /25t
m emu cm dynt’2cm? | g2 cmb/2 st
€0 =1 ( )
o =1( )
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1. o 1982) pp. 152 156

4.1 4.2 2
E-H E-B
(MKSA )
MKSA
MKSP ( MKSA Gauss
)
2. E H D B ( 1981) pp. 23 36
p. 23
E-H E-H
E-B
3. ( 1972)
1 (2 )
( 4

1

4. A. Sommerfeld( ) 3 ( 1982) pp. 433
441 ( )
C )
( Gauss
Gauss
)

1 1972 4 25
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1983
1991
1993
1999
2005
2007

10

g N N O

22
20

31
20

o g~ WNDN
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